

## Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

**Project Name: Vincent Community Bikeways** 

Project ID: RDC0016225

Bids Opened: 1/3/2023 Project Manager: Charles Vosicka 626-458-3988

				Engine	eer's Estimate	(1) Excel Pav	ring Company						
(1) Pre	liminary Bid Amount		Ş	66,458,221.98									
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
	(BASELINE) (STIPULATED UNIT												
	PRICE OF \$2,500)		<b>#</b> 500.00	N 4771 1	#2.000.00	ФE00 00	#2 000 00						
2	CONSTRUCTION SCHEDULE	6	\$500.00	MIH	\$3,000.00	\$500.00	\$3,000.00						
	(UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)												
3	CONSTRUCTION SCHEDULE	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00						
	(AS-BUILT) (STIPULATED UNIT	-											
	PRICE OF \$1,000)												
4	PREPARATION OF THE SWPPP	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						_
	(STIPULATED UNIT PRICE OF												
	\$2,500)		<b>#</b> 40,000,00		<b>#40.000.00</b>	<b>#404 000 00</b>	#404 000 00						
5	IMPLEMENTATION OF THE SWPPP	1	\$10,000.00	LS	\$10,000.00	\$124,000.00	\$124,000.00						
- 6	OFFICE FACILITIES	7	\$3,000.00	MTH	\$21,000.00	\$3,000.00	\$21,000.00						
7	MOBILIZATION		\$99,447.00	LS	\$99,447.00	\$624,000.00	\$624,000.00						
8	CLEARING AND GRUBBING	1	\$50,000.00	LS	\$50,000.00	\$172,000.00	\$172,000.00						
9	CONCRETE REMOVAL (NON-	27	\$260.00	CY	\$7,020.00	\$500.00	\$13,500.00						
	REINFORCED)												
10	REMOVE EXISTING CHAIN LINK	13900	\$4.50	LF	\$62,550.00	\$10.00	\$139,000.00						
	FENCE												
11	UNCLASSIFIED EXCAVATION	3549	\$145.00	CY	\$514,605.00	\$168.00	\$596,232.00						_
12	UNCLASSIFIED FILL	249	\$1.00	CY	\$249.00	\$72.00	\$17,928.00						
13	SHOULDER GRADING	5	\$5,000.00	MI	\$25,000.00	\$8,000.00	\$40,000.00						
14	CRUSHED MISCELLANEOUS	108	\$250.00	CY	\$27,000.00	\$230.00	\$24,840.00						
	BASE												

Project ID: RDC0016225

Bids Opened: 1/3/2023 Project Manager: Charles Vosicka 626-458-3988

(1) Pre	eliminary Bid Amount			Engine	eer's Estimate	(1) Excel Pav	ring Company 66,458,221.98						
, ,	it Price Detail					4	70, 100,22 1.00						
ltem	<u>Description</u>	Qty	Unit Price	Unit	<u>Amount</u>	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
15	COLD MILL AC PAVEMENT (0 -	116639	\$0.35	SF	\$40,823.65	\$0.42	\$48,988.38	<u>Office Floor</u>	7 tillourit	<u>Office floor</u>	7 tillount	<u>Office Floor</u>	7 tillount
13	1-1/2")	110039	ψ0.00	OI.	ψ10,020.00	Ψ0.12	ψ 10,000.00						
16	AC CURB, TYPE D1-8	1349	\$12.00	LF	\$16,188.00	\$16.00	\$21,584.00						
17	AC PAVEMENT	3163	\$135.00	TON	\$427,005.00	\$200.00	\$632,600.00						
18	AC PAVEMENT(PATCH BACK)	8	\$400.00	TON	\$3,200.00	\$800.00	\$6,400.00						
19	DOUBLE ADJUST MANHOLE	15	\$2,000.00	EA	\$30,000.00	\$1,800.00	\$27,000.00						
20	ASPHALT RUBBER HOT MIX	1095	\$135.00	TON	\$147,825.00	\$200.00	\$219,000.00						
21	PCC CURB & GUTTER, TYPE	140	\$60.00	LF	\$8,400.00	\$98.00	\$13,720.00						
	A2-8												
22	PCC DRIVEWAYS, 4" THICK	1231	\$15.00	SF	\$18,465.00	\$19.00	\$23,389.00						
23	CHAIN LINK FENCE, 6' HIGH	2964	\$32.00	LF	\$94,848.00	\$42.00	\$124,488.00						
24	3" CONDUIT (SCH 80 PVC)	310	\$51.00	LF	\$15,810.00	\$400.00	\$124,000.00						
25	4" CONDUIT (SCH 80 PVC)	15	\$70.00	LF	\$1,050.00	\$500.00	\$7,500.00						
26	2-PAIR DETECTOR LEAD-IN CABLE	1160	\$3.00	LF	\$3,480.00	\$2.00	\$2,320.00						
27	ELECTROLIER	2	\$750.00	EA	\$1,500.00	\$500.00	\$1,000.00						
28	2-CHANNEL ILD SENSOR UNIT	2	\$150.00	EA	\$300.00	\$2,000.00	\$4,000.00						
29	TYPE 332 CABINET	1	\$18,500.00	EA	\$18,500.00	\$39,000.00	\$39,000.00						
30	TYPE 332 CABINET	1	\$10,000.00	EA	\$10,000.00	\$1,500.00	\$1,500.00						
	FOUNDATION												
31	TYPE III-BF SERVICE CABINET	1	\$3,500.00	EA	\$3,500.00	\$7,000.00	\$7,000.00						
32	TYPE III-B SERVICE CABINET FOUNDATION	1	\$2,000.00	EA	\$2,000.00	\$1,000.00	\$1,000.00						
33	PEDESTRIAN PUSH BUTTON	2	\$960.00	EA	\$1,920.00	\$500.00	\$1,000.00						
	POST												
34	TYPE 1-A (10') STANDARD	2	\$1,600.00	EA	\$3,200.00	\$1,500.00	\$3,000.00						
35	TYPE 17 STANDARD	2	\$5,600.00	EA	\$11,200.00	\$7,000.00	\$14,000.00						
36	PEDESTRIAN PUSH BUTTON	2	\$600.00	EA	\$1,200.00	\$1,000.00	\$2,000.00						
	POST FOUNDATION												
37	TYPE 1-A STANDARD	2	\$1,150.00	EA	\$2,300.00	\$1,800.00	\$3,600.00						
	FOUNDATION												
38	TYPE 17 STANDARD	2	\$2,700.00	EA	\$5,400.00	\$3,000.00	\$6,000.00						
	FOUNDATION		00.000.00		<b>#</b> 4.000.00	00.500.00	<b>#7</b> 000 00						
39	20' SIGNAL MAST ARM	2	\$2,000.00	EA	\$4,000.00	\$3,500.00	\$7,000.00						

Project ID: RDC0016225

Bids Opened: 1/3/2023 Project Manager: Charles Vosicka 626-458-3988

					er's Estimate	(1) Excel Pavi							
(1) Preliminary Bid Amount						\$	6,458,221.98						
` '	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>						
40	12' LUMINAIRE MAST ARM	2	\$900.00	EA	\$1,800.00	\$1,500.00	\$3,000.00						
41	PEDESTRIAN PUSH BUTTON	6	\$1,325.00	EA	\$7,950.00	\$150.00	\$900.00						
42	RETROREFLECTIVE STREET NAME SIGN	2	\$1,500.00	EA	\$3,000.00	\$1,500.00	\$3,000.00						
43	3-12" LED VEHICLE HEAD (COMPLETE)	8	\$1,200.00	EA	\$9,600.00	\$1,200.00	\$9,600.00						
44	LED PEDESTRIAN HEAD (COMPLETE)	4	\$1,600.00	EA	\$6,400.00	\$1,000.00	\$4,000.00						
45	DETAIL 21 WITH TYPE H RPM	44	\$4.00	LF	\$176.00	\$2.00	\$88.00						
46	DETAIL 22 (THERMOPLASTIC)	147	\$4.00	LF	\$588.00	\$2.00	\$294.00						
47	DETAIL 27B (THERMOPLASTIC)	20005	\$4.00	LF	\$80,020.00	\$1.60	\$32,008.00						
48	DETAIL 27B WITH RAISED WHITE RPM	106	\$4.00	LF	\$424.00	\$2.00	\$212.00						
49	DETAIL 29 (THERMOPLASTIC)	1937	\$8.00	LF	\$15,496.00	\$2.00	\$3,874.00						_
50	DETAIL 37B (THERMOPLASTIC)	775	\$4.00	LF	\$3,100.00	\$1.00	\$775.00						_
51	DETAIL 38 (THERMOPLASTIC)	1584	\$4.00	LF	\$6,336.00	\$2.00	\$3,168.00						
52	DETAIL 39 (THERMOPLASTIC)	25587	\$4.00	LF	\$102,348.00	\$1.00	\$25,587.00						
53	DETAIL 39A (THERMOPLASTIC)	3108	\$4.00	LF	\$12,432.00	\$1.00	\$3,108.00						
54	PAVEMENT MARKINGS (THERMOPLASTIC)	7647	\$7.00	SF	\$53,529.00	\$7.00	\$53,529.00						
55	4" STRIPING (THERMOPLASTIC)	11264	\$4.00	LF	\$45,056.00	\$1.40	\$15,769.60						
56	8" STRIPING (THERMOPLASTIC)	1947	\$4.00	LF	\$7,788.00	\$2.00	\$3,894.00						
57	12" STRIPING (THERMOPLASTIC)	475	\$7.00	LF	\$3,325.00	\$3.00	\$1,425.00						
58	24" STRIPING (THERMOPLASTIC)	26	\$14.00	LF	\$364.00	\$6.00	\$156.00						
59	TYPE E DELINEATOR (FLEXIBLE POST)	386	\$50.00	EA	\$19,300.00	\$62.00	\$23,932.00						
60	REMOVE STRIPING AND MARKINGS (THERMOPLASTIC)	5509	\$7.00	SF	\$38,563.00	\$6.00	\$33,054.00						
61	INSTALL FIRE HYDRANT LOCATION RPM	17	\$7.00	EA	\$119.00	\$18.00	\$306.00						
62	SIGN PANEL	257	\$250.00	EA	\$64,250.00	\$185.00	\$47,545.00						

Project ID: RDC0016225

Bids Opened: 1/3/2023 Project Manager: Charles Vosicka 626-458-3988

	Engineer's				er's Estimate	(1) Excel Pav	ing Company						
(1) Preliminary Bid Amount						\$	6,458,221.98						
(2) Uni	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>						
63	SIGN POST (ROADSIDE SIGN)	96	\$350.00	EA	\$33,600.00	\$215.00	\$20,640.00						
64	REMOVE SIGN	6	\$100.00	EA	\$600.00	\$40.00	\$240.00						
65	REMOVE SIGN POST	5	\$250.00	EA	\$1,250.00	\$88.00	\$440.00						
66	RECONFIGURE DETECTOR	1	\$1,000.00	LS	\$1,000.00	\$4,000.00	\$4,000.00						
	ASSIGNMENTS												
67	INDUCTIVE LOOP DETECTOR	68	\$500.00	EA	\$34,000.00	\$500.00	\$34,000.00						
68	RED CURB (THERMOPLASTIC)	234	\$7.00	LF	\$1,638.00	\$22.00	\$5,148.00						
69	COMPOSITE TYPE 3 PULL BOX	8	\$1,200.00	EA	\$9,600.00	\$1,900.00	\$15,200.00						
	INCL COVER												
70	4-CAMERA (2 VIDEO/ RADAR, 2	1	\$40,000.00	EA	\$40,000.00	\$52,000.00	\$52,000.00						
	VIDEO) DETECTION SYSTEM												
71	TRAFFIC CONTROL	1	\$101,000.00	LS	\$101,000.00	\$479,000.00	\$479,000.00						
72	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$2,400.00	\$4,800.00						
73	CHANGEABLE MESSAGE SIGN	6	\$5,000.00	EA	\$30,000.00	\$2,500.00	\$15,000.00						
74	LANDSCAPING	1	\$276,618.00	LS	\$276,618.00	\$563,000.00	\$563,000.00						
75	IRRIGATION SYSTEM	1	\$505,554.00	LS	\$505,554.00	\$485,000.00	\$485,000.00						
76	PLANT ESTABLISHMENT	1	\$19,000.00	LS	\$19,000.00	\$60,000.00	\$60,000.00						<u> </u>
	PERIOD												
77	DECOMPOSED GRANITE, 4"	3037	\$5.00	SF	\$15,185.00	\$9.00	\$27,333.00						
	THICK												
78	TREE PROTECTION	1	\$2,400.00	LS	\$2,400.00	\$3,000.00	\$3,000.00						
79	AGRONOMIC SOIL REPORTS	1	\$19,000.00	LS	\$19,000.00	\$4,000.00	\$4,000.00						
80	DRY CREEK	1	\$6,322.00	LS	\$6,322.00	\$6,000.00	\$6,000.00						
81	CONCRETE SEATWALL	51	\$79.00	LF	\$4,029.00	\$830.00	\$42,330.00						
82	ENTRANCE SIGN	2	\$26,250.00	EA	\$52,500.00	\$9,000.00	\$18,000.00						
83	SIGN FOUNDATION	1	\$315.00	CY	\$315.00	\$5,000.00	\$5,000.00						
84	BOLLARD	15	\$630.00	EA	\$9,450.00	\$1,800.00	\$27,000.00						
85	VINCENT BIKEWAYS STENCIL	16	\$100.00	EA	\$1,600.00	\$630.00	\$10,080.00						
86	REFURBISH EXISTING 10' HIGH	1	\$350.00	LS	\$350.00	\$16,000.00	\$16,000.00						
	CHAIN LINK FENCE												
87	CHAIN LINK FENCE, 10' HIGH,	42	\$60.00	LF	\$2,520.00	\$300.00	\$12,600.00		_				
	3-STRAND BARBED WIRE												

Project ID: RDC0016225

Bids Opened: 1/3/2023 Project Manager: Charles Vosicka 626-458-3988

Engine					eer's Estimate	(1) Excel Pa	ving Company						
(1) Preliminary Bid Amount							\$6,458,221.98						
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
88	CHAIN LINK WALK GATE, 10'	1	\$900.00	EA	\$900.00	\$4,000.00	\$4,000.00						
	HIGH, 3-STRAND BARBED												
- 00	WIRE	10000	\$75.00	1.5	\$810,000.00	\$76.00	\$820,800.00						
89	WELDED WIRE FENCE, 6' HIGH	10800		LF		•							
90	WELDED WIRE ENTRY GATE	8	\$9,000.00	EA	\$72,000.00	\$7,000.00	\$56,000.00						
91	ALUMINUM EDGING	465	\$10.00	LF	\$4,650.00	\$19.00	\$8,835.00						
92	CONCRETE HEADER, 6" X 12"	718	\$16.00	LF	\$11,488.00	\$59.00	\$42,362.00						
93	DECORATIVE BOULDER	34	\$315.00	EA	\$10,710.00	\$350.00	\$11,900.00						
94	CONCRETE TRASH	5	\$1,155.00	EA	\$5,775.00	\$3,600.00	\$18,000.00						_
	RECEPTACLE												
95	BIKE RACK	6	\$815.00	EA	\$4,890.00	\$2,300.00	\$13,800.00						_
96	BIKE REPAIR STATION	1	\$5,040.00	EA	\$5,040.00	\$3,500.00	\$3,500.00						
97	BIKE PUMP	1	\$1,000.00	EA	\$1,000.00	\$3,400.00	\$3,400.00						_
98	ELECTRICAL WORK	1	\$210,020.00	LS	\$210,020.00	\$174,000.00	\$174,000.00						
Unit P	rice Total			;	\$4,493,953.65		\$6,458,221.98						
(3) LSBE/DVBE/SE Preference Amount							\$0.00						
(4) LSBE/DVBE/SE Adjusted Amount							\$6,458,221.98						
Comments						APPARENT	LOW BIDDER						